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COMMERCE AND ACCOUNTANCY
Paper 1

Time - 3 Hours Maximum Marks : 150

Note :— Attempt Five questions in all. Question No. 1 1is

compulsory. All questions carry equal marks.
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1. (@) A machine was purchased for Rs. 24,600 o Hive
'purchase system. Rs. 8,200 was paid on delivery
and the balance to be paid in three annual
installments of Rs. 6,000 each. The vendor charges
iﬁterest @ 5% p.a. and_thé purchaser depreciates
- at 10% on diminishing balance method. Prepare

necessary accounts in-the books of purchaser.
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( 2 ) Comm. & Acco.-1
) Explain the formulation procedure of Acco}xnting

standards.
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What is the difference ——

(@) Reserves and Provisions

®) Capital Reserves and Revenue Reserves

(c) Current Assets and Fixed Assets

(d) .» Tangible fixed assets and intangiblé fixed assets.
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The following are the maintenance cost incurred in a

machine shop per six months with corresponding

machine hours :

Months | Machine Hours | Maintenance Costs (Rs.)
January 200 3,00,000
February 220 3,20,000

March 170 2,70,000

April 240 3,40,000

May 180 2,80,000

June 190 2,90,000

Total 1200 1§,00,000
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Analyse the maintenance cost which is semi variatle
into fixed and variable element.
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SHI 200 3,00,000

B 220 3,20,000

o 170 2,70,000

e 240 3,40,000

g, 180 - 2,80,000

T | | 190 ' 290,000

e 1200 18,00,000

YR TEREE & Ag=R =J9 & feor g ufiad=sia
T T fawfa =ifsa '
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M A factory can produce 60,000 units per annum at its

optimum 100% capacity. The optimum cost of production

are as under :

Direct Material Rs. 3 per unit
Direct Labour Rs. 2 per unit
Indirect Expenses

Fixed ' Rs. 1,50,000 p.a
Variable Rs. 5 per unit

Semi-Variable Rs. 50,000 p.a. upto 50% capacity and
an extra expense of Rs. 10,000 for every

925% increase in capacity or part thereof

The factory produces only against orders (and not.for
own stock). If the production programme of the factory
is as indicated below and the management desires to

ensure a profit of Rs. 1,00,000 for the year.
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( 6 ) | Comm. & Acco.-1
Work out the average selling price at which each {1\11113
should be quoted : First 3 months of the year-50% capacity;
remaining 9 months-80% capécity. .Ignore selling,

- distribution and administration overheads.
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Define :

(a) Marginal Costing

(:b) Break-even point

(c) Contribution

() Budget.
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(a) How is an Audit Report prepared ? Also enumerate

the recent trends in auditing.

b) What is meant by amalgamation and absorption

of companiés ? Differentiate between the two.
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S uder @ Ty § 'l § w vwE %2
L) ST T TSI e giafaaa e ywr fmen
a2 wE e e § e e

S anse s



®)

(@)

®)

( 9 ) Comm. & Acco.-1

Discuss the relative and comparative advantage of

the internal rate of return and proﬁtability index

for the appraisal of investment worth.
Write short notes on any ftwo :

@ Adequacy of Worki-ng Capital

(ii) Operating Cycle ‘concept

(iii) Depreciation as a source of working capital.
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From the following information, compute the ta:{gable
income under the head salaries of Sri Kishore, who is
working as driver with the transport company at Sikkim

for the assessment year 2016-17 :

(@) Salary Rs. 20,000 per month
(Z7) Dearness Allowance Rs. 1,500 per month
(iit) Bonus Equal to one month pay

(izv) Remote Locality

Allowance Rs. 1,500 per month

(v) Allowance to meet his
personal expenses while

on duty Rs. 800 per month

(vi) Children Education

Allowance Rs. 195 per month

(for three children @ Rs. 65 per month per child)
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( 11 ) Comm. & Acco.-I

(vii) One son of Sri Kishore lives in hostel for studies

and employer pays Rs. 400 per month to meet

hostel expenditure

(viii) Entertainment Allowance Rs. 450 per month
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